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Sr Questions Answers Choice

1 In the world, winter wheat hectarge is:

A. 50 percent of the total wheat
hectarge
B. 90%of the total wheat hectarge
C. 75%of the total wheat hectarge
D. Only 20%of the total wheat
hectarge

2 Before 1991, in wheat production, Russia was:
A. At the top
B. Second largest producer
C. A top ranking country
D. Not a top ranking country

3 Which country ranks first in wheat production ?
A. India
B. Russian Federation
C. China
D. U.S.A

4 In the world, estimated area under wheat cultivation is:
A. 5 thousand million hectares
B. 500 million hectares
C. 1000 million hectares
D. 10,000 million hectares

5 In the world, Prairies grasslands are:
A. World's grain basket
B. Not world's grain basket
C. Center of live-stock farming
D. Dairy farming centers

6 In irrigated regions of the world, wheat crop require:
A. 10 irrigations
B. 4 to 5 irrigations
C. Only 2 irrigations
D. Limited irrigations

7 Which countries cultivate spring wheat?

A. Canada, U.S.A, China &amp;
Russia Federation
B. India, Pakistan &amp; Iran
C. Phillippines, Vietnam &amp;
Malaysia
D. Italy, Spain &amp; Portugal

8 Wheat cultivated of this era, perhapes was first cultivated

A. In Egypt
B. In North-west of Pakistan &amp;
southern Afghanistan
C. In China
D. In Germany

9 In North America, wheat cultivation was introduced by:
A. Germans
B. Portugueses
C. French
D. British &amp; Spanish

10 Sowing season of wheat is:
A. Beginning of summer season
B. Beginning of winter season
C. During spring
D. End of winter season

11 In irrigated region of the world, wheat crop require:
A. 10 irrigations
B. 4 to 5 irrigations
C. Only 2 irrigations
D. Limited irrigations

12 In hot countries, for vegetative growth of wheat:
A. 20 inch annual rainfall is enough
B. 15 inch annual rainfall is enough
C. Sufficient rainfall is required
D. Very small rainfall is required

13 Which countries cultivate spring wheat ?

A. Canada, U.S.A, China &amp;

Russian Federation
B. India, Pakistan &amp; Iran
C. Philippines, Vietnam &amp;
Malaysia
D. Italy, Spain &amp; Portugal

14 In the world, estimated area under cultivation is:
A. 5 thousand million hectares
B. 224.9 million hectares
C. 1000million hectares



14 In the world, estimated area under cultivation is: C. 1000million hectares
D. 10,000million hectares

15 Wheat specimen discovered from Iraq are:
A. Five thousands year old
B. Ten thousand year old
C. 6750 B.C.
D. Too old

16 In South American continent, top producer of wheat is:
A. Brazil
B. Argentina
C. Chile
D. Peru

17 For sowing one acre of wheat:
A. 40-60 kg seed is required
B. 100 kg seed is required
C. 30 kg seed is required
D. Only 20 kg seed is required

18 Total estimate wheat production of the world is:
A. 600 million metric tons
B. 500 million metric tons
C. 1000 million metric tons
D. 200 million metric tons

19 In river basins and fertile grasslands, wheat crop;
A. Remains unsussessful
B. Does well
C. May be sown
D. Cannot sown

20 For wheat production, the continent of Europe, produces world's
A. One-third wheat
B. 20 percent wheat
C. 40 percent wheat
D. Only 10 percent wheat

21 Total estimated wheat production of the world is:
A. 734.80 million metric tons
B. 500million metric tons
C. 1000million metric tons
D. 200million metric tons

22 Between latitudes of 25°-55°, cultivation of wheat is:
A. Very successful
B. Not very successful
C. Suitable
D. Suitable to some extent

23 In river basins and fertile grasslands, wheat crop:
A. Remains unsuccessful
B. Does well
C. May be sown
D. Cannot sown

24 Which country ranks first in wheat production?
A. India
B. Russian Federation
C. China
D. U.S.A

25 In the continent of Europe, France:
A. Ranks first in wheat export
B. Imports wheat
C. Export small amounts of wheat
D. Does not export wheat

26 Out of total export of wheat in the world:
A. U.S.A exports 45 percent
B. Australia exports largest share
C. U.S.A exports 80 percent
D. India exports 25 percent

27 Between latitudes of 25°-55°, cultivation of wheat is:

A. Very successful
B. Not very successful
C. Suitable
D. Suitable to some extent

28 World's total wheat production:

A. 20 percent is sold in international
market
B. Only small percentage is sold in
the market

C. 50 percent is solid in international
market
D. One-third is solid in the
international market

29 Wheat cultivation is done over:
A. One percent of cultivated area
B. Five percent of cultivated area
C. Nominal land area
D. Very small area

30 For wheat production, the continent of Europe:
A. Ranks first
B. Ranks second
C. Ranks third
D. Ranks forth

A. Contain enough limestone &amp;
nitrogen



31 For wheat crop, such type of soil is required, which:

nitrogen
B. Contain sufficient amount of zine
&amp; potash
C. Contain enough moisture &amp;
phosphorus
D. Contain sufficient calcium
carbonate

32 The continent of Asia, produces world's:
A. 20 percent wheat
B. About 45 percent wheat
C. 50 percent wheat
D. Only 15 percent wheat

33 The continent of Europe, produces world's:
A. 35 percent wheat
B. 20percent wheat
C. 40percent wheat
D. Only 10percent wheat

34 In the world, largest producer of wheat is:
A. Russian Federation
B. Canada
C. U.S.A
D. China

35 Wheat is most important:
A. Food crop of the world
B. Cash crop of the world
C. Industrial crop of the world
D. Fodder crop of the world

36 In wheat production, Pakistan ranks in the world as;
A. Fourth number
B. Secondnumber
C. 7thnumber
D. Top ranking


